Wi

- (ONE) A5EIRAK 2024 &

08 H 25 HmMIZE R

K™

M
{7 - - ; SN N
A | RHE | U | e |15BE | KE ___ Y
s | R | R | | R | ey | e | g |AET| PEEE | s
248) NTU) | () | T kY (nf'g’}L) (mg/L)
. LB E
<A . =N=
o | D SR sy | MO e | e |mirk| <os | s [ Top | E | oss 10
Ok A 5.30 ZEIR/AT] >t
2. BRI op | GBS ——
NEHRLE 6:38 ' FERARER | 16:00 | SRtk | <05 <5 T T 0.52 0.5
- 530 | BERAT] A
I 47 5
3. AL
BARAA Lvop | EIEEER -
kLG ) | 6:07 5 “ PVERARRR | 16:00 | Sdik | <05 <5 :;; F 0.68 0.7
. ZAETR/\S 1=
QLN DO A SRMRAE]
]
. LB EM
i | TS
BRI oy | R | 100 | ik | <05 | s | % o| 00 01
9= 530 | 2BERAT FIK
5CEOKST 14:00-1 | #AEEEM TER.
7:02 tammm | 16:00 a <05 | <5 0.56 0.7
BRI 530 | PAERRER ARIK s | °




SHRAT]

N ‘ B R =F 7 o e
O ROE sy | imeRR | 600 [Fmk| <os | s | T 0.52 07
FEns 530 | 2BERAT =175
7. HNe ] A= 7
14:00-1 | TRR
X% | #EKkEE 8:30 530 FERARRR | 1600 | Bk | <05 <5 o / 1.0
BR/A] 7| sERAS ’*
8. XX
o LB
IE5aK 14:00-1 | TTHRR
8:08 FOERARBER [ 1600 | FRAEAK | <05 <5 / 0.3
BEER 5.30 Sk
. SHERAT)
XK BIE
9. NEX AL RS
_ 14:00-1 | _ . TtHFE
ZIEM 394 8:45 FOERARIR [ 16:00 | FREEAK | <05 <5 / 0.7
5.30 =17
=5 SHRAT]
; WL
19;_,RE‘F1IX 4001 iﬁté 7 e
X | B=K 9:27 AR | 1600 | £k | <05 <5 / 0.7
i 5.30 LI
SHERAT]
pmCs WSS
IEI,‘JEDFT 14:00-1 ?jté\ i TTHR
RS 102 | 9.46 FOERARRR | 1600 | Stk | <05 <5 / 0.5
] 5.30 L
XK SHERAT)
12, MOH 14:00-1 | #HEBEH TTER
N 10:04 16:00 | FR#EK | <05 <5 / 0.5
SGIAY 89 530 | ARAERORER 21k

S0




%15 ZHERAT]
13, BUNE .
Hok s . ] = =1=]
gk WA s [ R | 1600 k| <05 | <s & 0.60 10
WARRL 530 | £ARAS] Sk
3
N | e o
14, == 11:24 O R 16:00 | RAEK | <05 <5 TR 0.60 0.7
WIRELR 0 = 530 | £AEER/AS L=21S
15, FE i g
FHE 14:00-1 ’Eﬁ\jtém\% TRR
mERE | 113 PERRRR | 16:00 | Rk [ <05 <5 1 0.52 0.7
MR 0| SERAT) g
16, ZELfF SRR
FHE 14:00-1 ’Eﬁ\jtém\% TRR
Be)VE | 12:00 IRERARRR | 16:00 | SRAEK | <05 <5 i 0.60 0.7
w | FLE SRILREH
N . ] = = ;%
Iﬁ/i@z i | O e | 1600 | oAbk | <05 | <s 7 0.52 05
DAIT4E 530 | £AMER/AS =218
A5G
18, ZElEH 14:00-1 | #BIEBETHK TTHER
7:28 — X 16:00 | FRHEK | <05 <5 0.60 0.7
R34t 530 | PESARRR Sk




XBAET
ERRSS UL

BIRAT]

PERRIE

1.0

15

0 30
A

FRAE7K>
0.05; 4>t
[77K=0.3/
FRAE7K>
0.02; 0.8>
k>
0.1




